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Moon's A'nomaly

Date = April 3, 59 A.D., 6:30 p.m. =0 + 59 95% 6% = 50,256 T.F. == .08 Tr.Per. = 2.55 Wax.Per. = 15.45
Arg. D | 2 3 4 5 6 7 12 16 17 18 19
gt _6.8709 | 9.425)] 125,76 | 38.00] 67.63] 52.70| 115.23] 39.44] 14.34 | 185.56% | 40.36] 20.16] 3.95
2 |sw. - 3 |+ 21 o+ 8]- 15 17} 8| + 6f- 1 4~ 169 [+ 1 2 6
3 liess | 5.9111 | 2.402| 34.02]| 94.66| 51.98]| 49.29]| 31.04] 83.30| 17.34 | 50.468| 25.72| 26.80| 23.04
4 |93.271 4,6792 | 24.199]| 71.40]| 3.18| 83.43| 24.03| 92.43] 26.99]| 23.25 | 54.000| 26.07| 27.60] 22.50
3 | =1 Per. +11.400| 23.80| 1.06| 27.81] 801! 30.81] 9.00 7.76 | 18.000] 8.69| 9.20! 7.50
3 |-Periods ; 1566 116 124 | 128 132 100 24 251 51 38
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TXb - Arg. 7'09‘%{% 18. T\‘/‘b Arg 24-0%5&35 25.( T\c/Lb Avg.atDate | Value T\c/x,b Avrg.at Date | Value
LI = 146 | 142 | 138 1 | 67.43 |106 | 113 [ 121 15| 6.5 98.37] 19676 | 4, (15[ 13.5 98.8] 2306
2 | 98.9 |136] 119] 108 2| 98.9 | 57] 63| 71 16 | 2.0 89.3 | 4316 | a3 [16] 9.0 89.3] 1245
= |21 261| 268 [ 273 3 | 21.0 |262| 251 | 248 17 [29.0 73.85] 7062.1 72 [17] 4.5 7 6137
4 |106.7 | 48] 48] 48 4 |106.7 | 67| 66| 66 18] 58 2478 49| s 18] 1.0 184.8] 508
L1 5.9 | 3] 801 B s 581 181 16] 18 19 [12.5 45.7 296 | 74 [19] 4.0 57.2 157
6] 64 | W] 4] 4 &l S8 130T 121 12 21| 4.5 19.6 14 | 76 | 21] 4.5 4.6 12
7 | 58.8 ¥ 5t ¢ 7 | 58.8 2 5 2 22| 0.5 51.4 1122l v 51.4 73
: ; | 31515 Sum 10438
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T.F.= <08 x ~80 =2 1.F.=-.08 -1 ; o
kst sum—-538)= 2 K (lst sum=595) == 4 I.F.==«00 _Tab.23 V|
Zg =sum 834 Tg=sum = 709 Date=1900-69 = - 1841
= TR TuRYhan s iRRgEs . .. iR
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k= -.0000248 x - 1841 = + .0456 o s e b
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0 6.8709 R . T ity B b et s il e
g.v. - 30 :
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100,271 | 11.6792 e TR
- 1 Per 1
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S.V. “ 90N CTie BeE % sl d 0 460 UL PRI T 1, T N B, Sk, 5
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1004 17.0 1481 }11.0; 80 | 4.5 4 | 8.5 201 7.5 501 00 5] 90 g
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Moon's Anomaly
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Moon's Anomaly
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M}oon’s Anomaly
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Mbon’s Anomaly
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M‘oon’s Anomaly
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LR 1y | 28 : Ia
2 | 18 |12 ] b s S 5
13 |. 19 113 5 Tab.24 Arg.
Sum Sum »” 7 Payallax ” Y Parallax e
I1.F.= 1.F.=
k (1st sum-5a8)= kK (lst sum=595) = ]I:).F'l:.= l_Sa) _Tah.23 Vi
=8 Y a=Sum ate = = ,
£ = Sum - e 7 Per.=7X270.95 = |896.65 fd
Arg. =1896.65+

k= —.0000248 x A5

—m




Mbon’s Anomaly
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